QUIZ 11} uveneral CASMmusIry 1 LeCiure A LI Halin LU DS LLWis W Y3V am qUIZ#

Name KW (print) Name _ (sign)

Please show all work faffull credit & to get partial credit. (suggestlon han.ng answer.)

1. How many grams of NaCl is dissolved in 30.5 mL of a6 Vw3 -T-""" tlon ? (FWNaCl = 585
g/mol) (6 pts)

205w« O.[00 mal Hall 955 Hall _ 0.17%
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2. Infr g point depression and boiling point elevation; 1 € FeCls as the dissolved substance,

assuming complete dissociation, what is the i (Van't Hoff factor) 7 (3 pts)

Ft’,@?? > F’eﬂ' *(*;C? OYélg)anL/d@

3. For the following reaction mechanism shown as the elementary reaction$ given, what is the rate law?
{You do not need to show me only reactants of the overall reaction to complete this problem. You do
not need to show me the overall reaction to complete this problem.) (5 pts}) ad G,W -3
]

Cl + 03 =2 ClIO+ O fast step  elementary reactions of the proposed mechanism
ClO + O 2Cl + O €—slowst 7 ?éf M’
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4. For the following energy vs. reaction progress diagram, match the blanks with the appropniate terms.
(a) reactant (b) product (c) transition state (d) intermediate (Each term may be used once, more than

once or not at all) (6 pts) ‘ ' : .
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2 COF; - CO, + CF, rate= T\
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Qumm General Chemistry Il Lecture B 'Dr' Hahn ié'ptg 22013 W 930 am  quiz#

Name /C«M’,\/ (print) ‘Name . " .~ ."_ RE L

Please show all wdﬂc for full cmdit & to get. pamal credzt (suggesta A

. 1. How many grams of KI is dissolved i
' g/mol) {6 pts)

2. In ﬂ:eezmg pomt depression and boﬂmg pamt eIevatxon, if you use: Mg Clz asthe dlssolved
substance, assummg complete dissociation, what isthe i (V an t Hoﬁ‘ factor) ? (3 pts) §

Fm' the foilemng reactlon mechanism shown as the. elementary reactlog glven, what 15 the rate Iaw'?
(You do not need to show me only reactants of the overall reactien to” complete tlns problem-Yqu do
not need to show me the overall reaction to complete this probiem) (5 pts)-

Br; g K 2Br fast - elementary reactions of the - proposed reactlon mechanism
Y ek _

. ,
Br H, IZE_IBI + H slow m ‘/O’L C %VJ C HJ
H + Brz-)HBr+Br fast" -

: ks, g, = g0
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4, Forihe toﬂ?)mng EHergy vs. 'reacnon prcgreéé dlagram, match the bianks Wxth the appropnate terms
(a) reactant {b) product (c) tranmtzon state - {d) mtermedlate (Each term ma .
once or not at all) (6pts) 70
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-~ reaction progress

' Exira Credlt For the reactlon shown, what i is the raie of the reac
the molecule

»



szHI General Chemistry IT Lecture A Dr. Hahn 20 pM
Name 74—&’)/ {print) Name bﬂd ( EW (sign)
Please show all work for full o get partial credit. ( gaestioa=A guess is better than poramswer.)
— r)
1. What is the molalt ade by dlSSOlVl g 22. 7 grams of ethanol (FW etha

g/mol) T355 grams iwaﬁr (assume ates ot [ ) 7(6 pt
molal: & holes solwbe, /eyl
9° (49 S0 | [/ A moles: 46,08

<y = %959 ¥ N 15572/, 39

2. Infreezing pomt depression and boilirfe point elevation, 1f you use Ca (OH), as the dissolved
substance, assuming complete dissociation, what is the i (Van’t Hoff factor) 7 (3 pts) g

calovh = Caty 2007 Dparisiles

3. For the following reaction mechamsm shown as the elementary reactions given, what is the rate
(You do not need to show me only reactanis of the overall reactien to complete this problem. You do

not need to show me the gveral). ing to complete this problem.)
\ :
I E 21 fast el tary reactions of the propg
¥ b, Cin
: 5
Yﬁ/r( > My .

LLUTNNG Stey ofe barmmes rakt)
s{0w stey Cre ooV TR < F)

4. For the following energy vs. reax:ﬂon/m"ogress diagram, match the b!anks with the appropriate fefms.
(a) reactant (b) product {c) transition state (d) 1ntermed1ate (Each term ma

H, + 21 EZHI slow
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the moleculé BrNO

2BNO =< 2NQO + Bn; / rate =




Quiz it (_xeneral(,hemlstryu Lecture B- Dr. Hahn 20pts 2/20/13 W 11:30 am quz#__

' (pnnt} Name _

ey 3@5@ //n_,'

ﬁ -
bcé;ng point elevation, if you use Ca Cl; as the 1ss0 su tance
what is the 1 (Van t Hoif fac:tor} 7. (3pts) s :

; ﬂ}-tl’fé{é}

3. Forthe followwg react:on mechanism shown as the elementary reactions given, what is the rate law?
(You do not need to show me only reactants of the overall reaction to complete this pmblem You do
not need to show me the overal} reactxon to oomplete this pmble o .

e

In freezmg point depressum and

j 3 lagram, match the blanks with the appropnate terms '
(a) reactant (b) product (c) transmon state (d) mtermedlate (Each term may he usec__i once;-more: that—

Energy

e reactlon progress T

Extra Credlt For the reactlon shown, what s the rate of the react' f
the molecule N() Don’t’ foxget the correct sxgn of the equanoj" : 5). “1 s o
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Quiz 11l General Chemistry Il Lecture A Dr Hahn 20 pts 2/20/13W 930 am quiz # \7 :

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

1. How many grams of NaCl is dissolved in 30.5 mL of a 0.100 M water solution 7 (FW NaCl=58.5
g/mol) (6 pts)

2. In freezing point depression and boiling point elevation, if you use FeCl; as the dissolved substance,
assuming complete dissociation, what is the 1 (Van’t Hoff factor) 7 (3 pts)

3. For the following reaction mechanism shown as the elementary reactions given, what is the rate faw?
(You do not need to show me only reactants of the overall reaction to complete this problem. You do
not need to show me the overall reaction to complete this problem.} (5 pts)

y

Cl + 03 =» ClIO+ O fast step  elementary reactions of the proposed mechanism
CloO + O 2Cl + O slow step
L.

4. For the following energy vs. reaction progress diagram, match the blanks with the appropriate terms.
(a) reactant (b) product (c) transition state (d) intermediate (Each term may be used once, more than
once or not at all) (6 pts)

reaction progress

Lixtra Credit: For the reaction shown, what is the rate of the reaction written in the form A [A]/Atfor
the molecule COF, Don’t forget the correct sign of the equation. (3 pts)

2 COF, = CO, + CF,4 rate =




Quiz I General Chemistry T Lecture B Dr. Hahn 20 pts 2/20/13 W 9:30 am  quiz #

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer )

1. How many grams of Kl is dissolved in 30.5 mL of a 0.255 M water solution ? (FW K1 =165.9
g/mol) (6 pts)

2. In freezing point depression and boiling point elevation, if you use Mg Ch as the dissolved
substance, assuming complete dissociation, what is the i (Van’t Hoff factor) ? (3 pts)

3. For the following reaction mechanism shown as the elementary reactions given, what is the rate law?
(You do not need to show me only reactants of the overall reaction to complete this problem. You do
not need to show me the overall reaction to complete this problem.) (5 pts)

&
Brz g K 2Br fast elementary reactions of the proposed reaction mechanism
&Koot
Br + H, 2HBr + H slow
k.

H + Brp > HBr + Br fast
ky

4. For the following energy vs. reaction progress diagram, match the blanks with the appropriate terms.
(a) reactant (b) product (c) transition state (d) intermediate (Each term may be used once, more than
once or not at all) (6 pts)

e

reaction progress

Extra Credit: For the reaction shown, what is the rate of the reaction written in the form A [A]/ Atfor
the molecule CO;, Don’t forget the correct sign of the equation. (3 pts)

2 COF, = CO; + CF; rate =

e



Quiz Il General Chemistry II Lecture A Dr. Hahn 20 pis 2/20/13 W 11:30 am quiz #

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

1. What is the molality of a solution made by dissolving 22.7 grams of ethanol (FW ethanol = 46.08
g/mol) in 355 grams of water (assusse-ders ate 50 ¥

------ ARy

0 R0
3T

2. Infreezing point depression and boiling point elevation, if you use Ca (OH), as the dissolved
substance, assuming complete dissociation, what is the i (Van’t Hoff factor) ? (3 pts)

3. For the following reaction mechanism shown as the elementary reactions given, what is the rate law?
(You do not need to show me only reactants of the overall reaction to complete this problem. You do
not need to show me the overall reaction to complete this problem.) (5 pts}

K

&
L, = 21 fast elementary reactions of the proposed reaction mechanism
-1

H; + 21 - 2HI slow
Ea,

4. Yor the following energjf vs. reaction progress diagram, match the blanks with the appropriate terms.
(a) reactant (b) product (c) transition state (d) intermediate (Each term may be used once, more than
once or not at alf) (6 pts)
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reaction progress

Extra Credit: For the reaction shown, what is the rate of the reaction written In the form A [A]/ At for
the molecule  BrNO Don’t forget the correct sign of the equation. (3 pts)

2BMNO > 2NO + Bn rate = ’




Quiz I General Chemistry IT Lecture B Dr. Hahn 20 pts 2/20/13 W 11:30 am quiz#

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

1. What is the molality of a solution made by dissolving 78.7 grams of methanol (FW methanol = 32.05
g/ mol) in 355 grams of water (assume density water = 1.00 g/ 1.00 mL) ? (6 pts)

2. In freezing point depression and boiling point elevation, if you use Ca Cls as the dissolved substance,
assuming complete dissociation, what is the 1 (Van’t Hoff factor) 7 (3 pts)

3. For the following reaction mechanism shown as the elementary reactions given, what is the rate law?
(You do not need to show me only reactants of the overall reaction to complete this problem. You do
not need to show me the overall reaction to complete this problem.) (5 pts)

O+Ny S" NO + N slow elementary reactions of the proposed reaction mechanism
Cl + H, - HCl + H fast

Kz

4. For the following energy vs. reaction progress diagram, match the blanks with the appropriate terms.
(a) reactant (b) product (c) transition state (d) intermediate (Each term may be used once, more than
once or not at ally (6 pts) ; '
)

reaction progress

Extra Credit: For the reaction shown, what is the rate of the reaction written in the form A [A]/Atfor
the molecule NGO Don’t forget the correct sign of the equation. (3 pts)

2BINO - 2NO + Bn rate =

S



